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0.01 HAc-NaAcC




1 pH
c=0.01 mol/L,pH =38

IgfHAC] =-5.3
Ig[Ac] =-2.0
2) pH
T, [Ac]=[HT]
AcC (HAC)

[H] =[Ac] +[OH]
T, [HAc] =[OHT]
HAC (AC)
[H'] + [HACc] = [OH]



(1)
(2)
)

(1)

§ 2-3

HAC-AC™
NH;-NH,*



(2) PH<2 ,pH>12

(3)
HA=——H" + A-
« [HIAT e Ki[HA]
[HA] [A]
pH= pK, +lg A ]

[HA]



p

pH

1023

0.9

0.1

dc

dc,

“dpH  dpH




p

Cha Cp
[AT] =¢,
[HA] = Cya— Gy
pH = pK, +1g—=
CHA_Cb
doH = d(——In—% = (@I, ~dIn(c ~G,))
2303 C.—GC, 23 "
1 dg, 1 . dg L CGn=GF6 4

T 2303 ¢, 2303 Gu—C, 2303 C(Cu—GC,)

p=% _5303%(Cu"G) _ 533l AlIHAI 5 3535 s
dpH Cha Cua

HACHA



dg d[2.3030,(1-0,)Cpial _

is, | ds, 0
2.303c,\[(1-0,)=0,]1=0
Opn =0, =05
[HA]:[A] = 1:1, pH=pKa pg

2
dfz = 2.303C,,,(0-2) <0

A

B = %03 C.n =0.576C,,,

ca = 0.01

B =2.303x0.5x0.5x0.01=0.576x0.01=5.8x10"° mol/L



C, = [A] — CHA5A

Ke K
K,+10 """ K_+10 "™

Ac, = Cy, 'AgA = Cya ( )



1/10( [HA]:[A] 10:1
1:10)

pKa£1  pH

pPK,> 2.6
PRatl pRp+l
HA/HA-; HA- /A~
PK,< 2.6 PKy-1 pK,y +1



0.1 mol/L, pH = 2.3

1 NaOH
Mr =94.50 9.450 ¢ Cnool = Ca
K 10—2.86
A |l=c .o, =0.1x 2 =0.1x =0.022
[ ] HA™ A Ka +[H+] 10—2.86 _|_10—2.3

[A"]=c, +[H"]
¢, =[A"]-[H"]=0.022-0.005=0.017
40.0x 0.017 = 0.68 (g)



2. i

0.1 mol/L NH5-H,O 0.1 mol/L NH,CI

3:1 B
B=2.3036,,, OrCiin
pH
pH =pK, +Ig [NHE] =0.26+ Ig§ =0.26+0.48=9.74
[INH, ] 1
-9.74 -9.26
S =2.303% K 10 x0.1=0.043

10°™ +10°%%® 107%™ +10%%



3. 50 mL oH 9.74 8.74

AC, = C 4, A0,
1 1
= Cha Ka( B )
Ka+[H]2 Ka+[H]1
1 1
10792 110787 . 10792 110797

= 0.1x107%% x ( )

= —0.052
Ac, = 0.052
0.052x50 = 2.6 mmol



pH
0.05 mol/L pH
pH = 4.008

[H+] _ m _ \/10—2.95.10—5.41 _ 10718

pH = 4.008
KHA—>K*+HA"
=005 y,, =0.485

K K —2.95-541
7, [Hl = |——%= \/ 10 =10"*%
Y o 0.485

pH

3.557
0.025 mol/L KH>PO, - 0.025 mol/L NaoHPQO4 6.865
0.01 mol/L 0.18



[A]

pM =IlgK,, +19

[MA]

(AL

[MA] pM

EDTA pCa=06.0

Y
K [Y']

pCa=IgKcyy +I9[MY]
1Y ] =[MY] Cy = 2Cca NeptaiNca=2:1

pCa=IgK., =6.0

19 Keay 192y =6.0
gy, =10.7-6.0=47
pH =6






